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Physics 11 - Trigonometry Review and Vector Addition Worksheet

Solve the following triangles using SOH — CAH - TOA and Pythagoras
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2. Convert the following vectors to x and y components
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3. Convert the following x and y componeths to vectors \2‘ T2, L]
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4. Add the following vectors using the trig method OR the components method

a) 256 [25° N of E] + 313[5° S of W]

Ve= |4
e _Si{20). o Sin (_a Se)) =70 °

3\ -

W
: ’:_ L (* = At 4 Y - LabcosE) :
- -lg.s'_ > ¢ =J25¢* 13t ~2(25)(3 1) cos(@)
Uo | ogztt \
oy i

S, Yead = JO.4° - £€S° = Su°

\ Vez W @ SUTwof 1)
b) 1.56 x 10* [35° W of N] + 8.82XT0° [72° W of SF 335X 10" 127" S of Wl 2 ve oy

i \ '
\Suug‘ fy;a ' ) m“ﬂ*— w§
_ ! ) ! CDMM,{\'
- F' - - R S B I o mt.’hpk\\
: 200 '
! LR L 330" 30260
Lt —
W=1 12840 Y=-2713x0 (
* ==8 a5« ld3 =839 mo‘?’ 3=\ ‘?j\?:oo -5‘3'3
= . {1
£ =8 9249y T =500 § E K= x4 i 2 — 20000

5. A sailboat is heading 35° East of North at 7.2 knots. The ocean current is 25° South of East at 17 knots. What speed
and direction is the sailboat tracking‘{ (Find the answer using the add components method)

| \

85/ 1L | Ve
L S o
| X -~ (v )
{ t\'-z‘:.\)« Ex
W54 Y=-0.5) '. Ve = sur y 522
s &\ = .9 Vr £1.5 kests
_ S Sy .
2 9= 5H &= Ton (ﬁ)‘%-l
5 L=50 75 wls @ k6" NoF €

6. A B747 is crossing the Pacific at 420 knots on a heading of 4 of W. Air Traffic Confrol radar is tracking the plane
at 470 knots [49° S of W]. What is the wind speed and direction?
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